RT=2

7HI17H(H) BBJ/MJ/M&FAI &AL

FRF

27—

FRF

RT—=

12:30~ |FEASKREF—T=>v 7
12:35~ |BEZERBN
V20221152 BBJ2022MLiB K= M&F2022(1LE K% MJ20221LE K= BBJ2022MLiE K= M&F2022Mli& K=
a =
BEE TEER TEER 774 FIVEE 774 FILEE 774 FILBEE
TEREE
12:35~ 7Ly v =X 52 (164) 13:17~ 7Ly v =X 52 (28%) 14:38~ [T FLI 52 (11%) 15:28~ |7Lyv v —Xo 5% - higEeE 1618~ | 7Ly v—R2 5% - WBEE 17:08~ 1= FLs5% 18:08~ M7 Lysv—2252
12:41~ |Ev 27w TEE 13:27~ |Ev 77w TER 14:42~ (B o7y v 15:33~ [T FLEFTR - thEEE 16:23~ [T kLT - e 17:13~ |Ev o7y - 1811~ IMISFLs5x
12:46~ [T P72 (9%) 13:32~ [T P Z 2 (23%) 14:46~ |RRE—=X20 7 2(2%) 15:38~ |vX&—R0 52 - WBEE 16:28~ |RAZ—ZXU 5 - WEHEE 1718~ |~22—=75=% 1814~ [MIv24—%55%
12:49~ |Ev T v 13:40~ |Ev o7y 7 14:47~ |Evo797 1543~ |T— L F2 5% - felEs 1633~ |- Fs5= - femEe 1703~ |ev o797 817~ MT—rr75%
12:51~ |v2&—=X2 72 (44&) 13:45~ |R2&—XY 72 (134) 14:48~ |LF+4—2252(34) 15:48~ (LY v Fo 72 - hikEE 16:38~ (LY v Fo 72 - hikEE 17:28~ |LT4—22 52 18:20~ IMILY > Fs 52
12:53~ |y 777 13:50~ |Ev 27y 7 14:49~ |evo797 1553~ |[#—12s 52 - pEa 16:43~ |P—LZU 5 - LBEE 17:33~ |€v o797 18:23~ |MIF—ALX7 5%
12:55~ |T—n ko352 (4%) 13:54~ |T—n ko5 (124) 14:50~ |7—<>»Xo 7z (124) 15:58~ |[LF14—RI TR - HEBEE 16:48~ |[LF4—220 52 - fmER 17:38~ |7—=>Xs 5% 18:26~ |[MILF4—227 52
12567~ (e 777 13:58~ |Ev 77y 1454~ |E€v o7y 7EE 16:03~ |V—%¥ X7 7% - kBEE 16:53~ |7—<>v X252 - kBEEE 1743~ |evo 7y 788 18:29~ [MIv—<> 2552
12:59~ |[L¥ YRI5 (24) 14:02~ |L¥ v R332 (24%) 15:08~ |Z22% (2040 = 16:08~ |21—> 452 - wgEE 16:58~ |24—> 252 - g 17:48~ |m2 (204 28 1832~ MzA—>55=%
S omE) e =E (2090 (e
13:00~ v o7y 7 14:03~ |Ev o7y~ 16:13~ |75F7+ - k&®E 17:03~ |75FF20 5% - k= 1835~ IMI757F252
a ! ’ BREE g HEL ”
13:01~ |[#H—1rZX2 52 (3%) 14:04~ |H—LZo52 (1%) 1838~ |7Lvov—Rs5%
13:02~ |evo7v7 14:07~ |gvo7v7 1841~ |2 Fns5x
13:03~ L7 =277 20%) 14:09~ (V74 =277 2(15%) XKIV=IVI =T 4TIV T 1844~ |RAZ—Z752
13:05~ |ev o7y 7 14:14~ |€vo7v7 QRO—FHLKIZTERURLE Y AT THRERLIEE LY, 18:47~ |F-NEF7TA
S 1419~ (777> X772 (28) https://youtu.be/L2PMHO0ipSoss T PEFTT e
13:09~ |Ev o7y 7 14:23~ |Ev o7 v E ] ‘ RO Py o
13:11~ |74 —> o5 (44) 14:27~ |24—>v 20752 (142) T PEZET v
13:13~ |Ev o7 v/ 14:32~ |Ev o7y 7 ﬁ 18:59~ |V—< ¥ XU IR
13:156~ |777+ 47 2(14%) 14:36~ |7 75577 x(24%) S 5%
13:16~ |y o7y 7 14:37~ |Ev o7y 7 E : TITREEETTEE
19:08~ |[M&FIFLT TR
19:11~ |[M&F<w2&—XU 52
5 2| EITIRY ZAREI Za= iR i ol 19:14~ |M&FLF1—27 52
SEEERIE B 220720 AR KIBIC RS T 55 AR BYET O CH T RIZE,
19:17~ [M&Fv—=> 2452

W, BFEBY T T U= BRSO RWNBEIIRBLRVET O T, BFOERBRED ICEHEZ BBEVELET,

19:20

R



https://youtu.be/L2PMH0ipSoss

EFISvIN>2022IB6KE EFEE

(DLy2v—XUSX] (18m%~297%)

HigE . K% TFiin
1 I FRX 28
2 N 27
3 iz v 22
4 I EEE 26
5 e IS 25
6 == KX 19
7 Hit BE 25
8 A FOEE 27
9 EE A 25
10 mE #E 22
11 TE #&— 28
12 B BA 22
13 ME ¥ih 22
14 na 2t 25
15 8L BX 25
16 =) (I  w 28
(= RILOSR] (30%~397%)
HiBE K% Filin
1 wHOED 36
2 FE A 31
3 oA Eth 34
4 BE ED 35
5 BE &' 31
6 Bk foz 31
7 WEg KT 39
8 HA IEF 36
9 SLY THL 33
(RRI—-XDUSR] (40%~495%)
HiBE K% Filin
1 I BE— 40
2 FEI AR 41
3 R & 41
4 RN 45
(O—ILROSX] (50i%~597%)
Hi5E | K& Filin
1 Bk BE 50
2 == | TN < 57
3 EM B 54
4 NEFEF BA 51
L1 ROSR] (60~ ERHEFIR)
HigE . K% Fiin
1 AAR HH 64
2 R O G /N 5 61




(H—ILXOSX] (18i%~295%)

HiHE | K& it
1 e IR3E 25
2 ST 26
3 Iz RRE 26
(LT« —RTSX] (30i%~39m%)
HiHE | K& it
1 el F= 30
2 ol #H=E 34
3 58 =A7F 34
4 JEIS  fER 35
(D—TY>XOSR] (40i%~495%)
HhisE K& it
1 gE FE 47
2 hiE 8= 43
3 Z 43
4 SLhY 8% 40
5 Nl B+ 46
6 X&E Inid 40
(U4 —>2035X] (50/%~597%)
HiHE | K& i
1 ey =0 50
2 g RE 51
3 ARTF HFE 55
4 AT EFF 54
(TSFF USR] (60m~FHnfEHIR)
HisE K& it
1 HE g 64




